T4 FM (75%)

Section A: Multiple Choice Questions (75%)

LG A, B, C I D V1N T,

fu
Each question is followed by four options A, B, C and D. Choose only one answer.

1 12.8-14x0.2=

A 228 B 1252
2 1+3+l:

3 3

A — B =

9 10
2

3 55 kg + =7kg60g

A 1.66 kg B  1.86kg

1

4 125 ’]‘ Hd_éﬁzfa& o

%of 125 hours is

A 1T X7 E 6%

1 day 7 hours 6 minutes
C 1 X7 BF25 5%

1 day 7 hours 25 minutes

C  10.00 D 228
c 2 p 1t

3 3
C 202kg D 246kg

B 1 X7 /E15 94

1 day 7 hours 15 minutes
D 31 /)vif 25 54F

31 hours 25 minutes

5 HA1AHKANFRHFXRNFL=ZAYITEARN . IR ZIR6 P Ko
Diagram 1 consists of several equilateral triangles of equal size. Calculate the perimeter of the shaded

region of the whole diagram.

A 48 cm B 49 cm

i 1/ Diagram 1

C 56 cm D 64 cm
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Which of the following is correctly rounded off to the nearest thousand?

A 89653 -> 89000 B 47998 - 50 000

C 79204 - 79000 D 28895 ->28900

VAT R & Fe BR AR L 27
Which of the following has a total the nearest to 2?

c 12+ D 213

A 2+l B 2—l
2 4 5 10 4 8

B2 2R FHENT 4 RFRIRG I o 4o RRGGHRIRF I 10 20 548, A 24 ) afit e
% BRIZ A IR IR TIT4E 6 B 18]

Diagram 2 shows the time Lisa ends her swimming course every evening. If her swimming course takes 1
hour 20 minutes, find the time in the 24-hour system that the swimming course starts.

A 1510 ®/ hour
B 1550 B/ hour
C 1610 &/hour

D 1650 &/ hour

& 2
B3RF—AHR AT, XML YEGER Diagram 2

Diagram 3 shows numbers arranged in a sequence. The difference in the value of X and the value of Y I
S

31,27, X,19,15,11,Y

& 3/ Diagram 3
A 19 B 18 C 17 D 16

A 4 ARG RKTIRE EFR. 3 HEFRE ALK,

Diagram 4 shows a cuboid and a cube of the same volume. Calculate the length of each side of the cube.

16 cm

2cm

& 4 / Diagram 4

A 3 B 4 C 6 D 8
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Diagram 5 shows an empty pail and a glass which can fill 250 m/ of water.

2T T 3B AR
Pail . Glass
& 5/ Diagram 5
%#i%)ﬂiﬂii%ﬁﬁ&4%£ B AAAN L . B 5 VAR 89K

Dora wants to fill the pail with 4%£ of water using the glass. How many glass of water does he need?

A 10 B 12 C 16 D 18

12 hgAh®fe, #FHHPRTEQRTHNFHME.
Calculate the average mass, in g, of the bag P and bag Q in Diagram 6.

& 6 / Diagram 6 7

A 1375 B 1400 C 1425 D 1450

13 —ANEFEAI105ANMER. MERET L PIG20%, BIRETHAN50%. BEFELEHT S IA

=ER?
A basket contains 105 mangoes. Azmi takes 20% of the mangoes. Bala takes 50% of the remaining
mangoes. What is the number of mangoes left in the basket?

A 37 B 42 C 45 D 63
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B 7 A —KARZENGEGE, 25 L6 FA TR XmMMATH L 5.

Diagram 7 is an incomplete bill showing information about items bought by Lina.

# &/Quantity

#4%/ Item

#4/Price per unit

#R 8% /Amount

3 3./ 3 bottles

#% [ Honey

RM31.50

2 4/ 2tins

vkt / Coffee
powder

RM 12.90

4 &,/ 4 packets

BT/ Biscuit

RM4.80

Hif/Total

& 7/ Diagram 7
Jo REIRA RMI00 R 20K, Wik T % J4R?
How much is the balance if she pay the bill with RM1007?

A RM 2350 B RM2450 C RM27.20

A 8 277 PQRS Kk 7 # % PSTU iE 7 # . 15cm

Diagram 8 shows a rectangle PQRS and a square PSTU.
VA em® A 45, 3 H ik R AR5 6 @ AR
Calculate the area, in cm?, of the shaded region.

A 115 B 117 C 151

B9 27Q. R S AU #{LE, ~

D

P

RM 28.20
12cm Q

9cm

S

& 8/ Diagram 8

171

Which of the following coordinates of the

points Q, R, S and U is incorrect?

_ N W A W N9

K 9/ Diagram 9

VAT R JEARA K2
Which of the following coordinates of the points is incorrect?

A R(6,6) B Q(6,3)

S(9,4) C

D

U, 2)
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Diagram 10 shows the mass of three fruits.

KFE RE
Fruit Mass
xr 0.45kg
Mango
B 2809
Starfruit
R AL 1.52kg
Pineapple

i 10 /Diagram 10
2 v = A4 = 3 LY 2GR} ) 2 7
— AN R EREZARREGE IR E £ kg A%A5, N RER S V?
The mass of the pumpkin is%of the total mass of the three fruits. What is the mass, in kg, of the pumpkin?

A 135 B 1.5 C 1.55 D 1.75

18 AU BF—ANEEAE, CRAG—ANZALF—DAKFTH LRI

Diagram 11 shows the combination of a triangle and a rectangle.

R

8cm .
P Q } S

+6cm
U T

& 11 /Diagram 11
KITBOBRAZAHGERG 445, Aem H2fs, PQKELS I?
The area of the rectangle is 4 times the area of the triangle. What is the length of PQ, in cm?

A 8 B 10 C 12 D 16
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Diagram 12 shows Alissa’s savings.

67K

6 notes

27K

2 notes

A~

8 coins

K 12/ Diagram12
R R TRAOE e OB Y

Calculate the total amount of Alissa’s savings.

A RM55.20 B RM56.00 C RM311.60 D RM326.00

20 BI3WHsrBEEFT—HA40ANFAFEEZGEFHAL,

Diagram 13 is a pie chart which shows the favourite sports of a group of 40 pupils.

B R
Netball % Football
LR ,
Badminton @ HALIK
Hogkey

R
Bowling

& 13/ Diagram 13
B ERIG AP LR F EALF . T HE R RRGF EAK

The number of pupils who like bowling and badminton is the same. Calculate the number of pupil who
like football.
A 4 B 8 C 16 D 20
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7

A car needs 50 /¢ of petrol to travel 550 km. How far, in km, can the car travel with 75 ¢ of petrol?
A 825 B 975 C 1050 D 1125

AT —ANAF = A
Which of the following shows an isosceles triangle?

ANy

HI4MEBRETAFAWENFARE, STHNFAERZTEA ZTH K.
Diagram14 shows the bar chart of the number of pupils in four Primary Six classes. The number of
students in class 6D is not shown.
FEIE
Number of pupils
50

&

40

30

20

» T Class

RE OARZ AAE AT
6A 6B 6C 6D

Bl 14 / Diagram 14

NTIHNFARTILANCIS 15 A, AKX 4 BEHFAELHKT,
The number of pupils in class 6D is 15 more than the number of students in 6B. Calculate the total

number of students in all the four classes.
A 45 B 95 C 125 D 155



24 — AT A I50ml 9 R, A REDIRA R TR H 1725 (0 Rt mARELRATERE )
RRT?
A glass can hold 150 m/ of juices. A hawker can sell 17.25/ of juice in a day. How many glasses of juice

the hawker is able to sell in 7 days?
A 85 B 105 C 805 D 1015

25 HISHEBATEHRETNTIHFEFRGHEE.
Diagram15 is a pictograph which shows the daily saving of all the pupils of class 6A.

RM 1
rRM2 () ©

RM3 | (D)

RM5 | ()

RESANFEA

represents 5 pupils

K 15 / Diagram 15

it H i E 69 R 3 A S AR £
Calculate the difference between the average and the mode.
A RM1 B RM 2 C RM 3 D RM 5
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Section B: Subjective Questions (25%)

o AR5 ML I Answer all the FIVE questions.
o EBFGAXAMFIEHHT Write your answers in the spaces provided.

o Sibit A 9P B X T A Bh AR FE B4, Show your working, it may help you to get marks.

o ANEKMHHAETAEET N The marks allocated for each question are shown in

brackets.
1 B 1 2R — &SR0k 2,
Diagram 1 shows the mass of a tin of instant skim milk powder.
e

JEINSTANT 1
SKIMMILK
{POWDER
| vitamis |-
| AONWD. | 4] |
N o -:g’.”] / 1/ Diagram 1

(@) A gAhefa, HHEE 1 BPEBLAE IR 2.

Calculate, in g, the mass of the box of instant skim milk powder in Diagram 1. [2 marks]

2% (Answer):

(b) Bp i BLAE Wiy 69 2 & T 090 B & 50g. & F 89 &30 EBLAE A VI T EN S AN T Eo

Vg RAs, 3 R O A 0% 3 %]

The mass of an empty box of instant skim milk powder is 50 g. All the instant skim milk powder in the

box is packed equally into 8 packets. Calculate the mass, in g, of 3 packets of the instant skim milk

powder. [3 marks]

Z-Z (Answer):
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Diagram 2 shows a number line.

—t—  — ——————>

4
5 10
A
2 / Diagram 2
(@) BHT A 2o RE . 2 5]
Write the fraction in box A in its simplest form. [2 marks]
Z-Z (Answer):
(b) R AT A 2o HGE4H (V) . [1 2]
Tick (v") the diagram which represents the fraction in box A. [1 mark]
(€) ¥AF A ZagoH 3 H ) H. [2 2]
Change the fraction in box A into decimal. [2 marks]
Z-Z (Answer):

10
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Diagram 3 shows a rectangular water tank.

80 cm

35cm

35cm

A 3/ Diagram 3

(@) Yhem® H#fn, FHEKEG R, 2 %]
Calculate the volume, in cm?®, of the water tank. [2 marks]
2% (Answer):
(b) B A ERE ZBIN 49 (897K, VA em A R4, +HH KAL) 3 B 3 2]
Mr. Baha pours 49 ¢ of water into the water tank. Find the height, in cm, of the water level.
[Tcm® = 1m/] [3 marks]
2% (Answer):

11
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Diagram 4 shows the time Mr. Lee arrived in Kuala Lumpur from Sandakan one night.

(@) A 24 et ariEE kAt 1 %]
Write down the time in the 24-hour system. [1 mark]
%4 (Answer):

A 4/ Diagram 4
(®) Z'?‘f‘tié“’*i%ﬁ?%'%ﬂﬁo FAUIRA 1 7 2 ML AT AR B K 89 B2

ATaOERLZEH (V) o BHtET R 2 %]
Mr. Lee’s journey took 2% hours. Which clock face shows the time Mr. Lee departs from Sandakan?

Tick (v) in the correct box shown below. Show your working. [2 marks]

() mrFEI e, FhaAEFLELENG, FRFN— DT Z040, T ES AL G
@ 86 . 2 ]

Mr. Lee takes 1 hour and 13 minutes to reach his company by taxi. Calculate the time that Mr. Lee
reaches his company. [2 marks]

Z-Z (Answer):

12
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B 527 —KKFGHPQRS &9+ ), FERZAL WUV ZHMF X935

Diagram 5 shows a rectangular card PQRS. Isosceles triangle WUV is the part that is being cut off.

36 cm
P W Q

8
A 5/ Diagram 5

1
(@) UV & SR aég o VAicm H#As . HEER = AH WUV 6 )E K.

1 . : . :
uv |s§ of SR. Calculate the perimeter, in cm, of isosceles triangle WUV.

Z-Z (Answer):

[2 marks]

(b) YA em® A fds, ALK AEF R G @R

Calculate the area of the remaining part of the card, in cm?,

e

Z-Z (Answer):

[3 marks]

13



ANSWER &%

Section A w4

1. B 2. A 3 A 4 B

6. C 7. D 8 C 9 D

11. D 12. C 13. B 4. A

16. C 17. A 18. B 19. C

21. A 22. B 23. D 24. C
SectionB z4a

1. @ 1050¢ (b) 375¢g

2. @ = (b) (©) 06
3. (@ 98000cm? (b) 40cm

4. (a) 2315 (b) (c) 0028

5. @ 32cm (b)

> O O





